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PART-A EXAMINATION- (GENERAL)

QUESTION PAPER FOR THE POST OF JUNIOR ASSISTANT
(PAY LEVEL-3)

Maximum Marks: 50 Time: 1 Hour

Name of Candidate: Roll No:

INSTRUCTIONS TO CANDIDATES

1. This question paper has 50 questions. Each question carries one mark. There are four choices for
answer (A, B, C, D) to each question. Choose the correct answer (one only) for each question
and write the answer in the space provided against each question.

2. Candidate must write Name, Roll No. and sign on each page of this booklet.

3. The candidate should check that the booklet does not have any unprinted or torn or missing

pages or questions etc. If so, get it replaced with another question paper, before question paper

starts.

One (1) mark will be awarded for each correct answer. There will be negative marking and (- %)

mark will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking

Return the Question Paper cum Answer Sheet to the invigilator after the examination is over.

Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.

There should not be any cutting or overwriting in the Answer.

Use of Unfair Means in Examination will lead to cancellation of candidature.
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1. 2T 9 H 50 U9 €. U U9 Ueh 37 Pl 8| U U9 o IR & (oY IR faded (A, B, C, D) €l
A U9 & felT el IR (el Th) T 3R Tdd U9 & qHA 1Y TT ®IH T IW o |

2. Ingelf Pl 58 YRHT & TS IS U AT ATH, Tet A6k Te@H T BT qeT gxdTeR BT 2|

3. 3nefi T e ST 1T fo gfedest § w18 Wit fomT SuT g1 a1 %eT g311 a1 TIe s a7 Wed A1 T8l
21 IR THT 2, a1 79 U 9% e ¥ Uge! 38 g U9 0F ¥ 98 of |

4. UIE Tel I & ToTT TH (1) 37 &A1 JTUT| ABRIHS 3T BT 3R U Teld SR & folT (- 14)
3iep e smam|

5. ARG W9 TBRIHE ek Pl MBI Tel BT

6. L& HAT &M b I1E U9 U5 HE IR YfEderT udderds &l @iel |

7. WIS, G HEl 3R 3 SadRie Teieg uielT § afeid &,
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8. I H BIE BT AT GRS 781 &HT TTfeT.
9. Tdier ¥ Ffed QAT T HETT i TR SHIGAT T R & e

i Q. No. | Question Ans |
l. I\ Look at this series: 3,4, 7, 8, 11, 12, ... What number should come next? D.15

B YT BT 3,4, 7, 8, 11, 12, ... T 1 FI i HEAT 37T 20

{

A7
B.10
C.14
D.15

| 2. Find the missing number :- 15, 31, 63, 127, 255, (....) B. 511

A.513
B. 511
C.517

|

|

[

|

|

|

|

: T T [ F- 15, 31, 63, 127, 255, (.....)
|

|

|

|

| D. 523

| 3. Identify the figure in the option that completes the pattern. D.4
| fdsed H I 3TPId P! TeaT=T S 9 Bl g B! 2

?

|

X (1) 2) (3) “) |
Al |
52 |
C.3 \
D.4

4, Read each definition and all four choices carefully, and find the answer that provides the | A

{ best example of the given definition:-

T TTTT 3R T TR fased ! saHgde Ue, 31K 98 3w ge ST al TS UfdTST BT Had ~
T IETEXTT Tl BT &:-

| . ; . . .

| It is appropriate to compensate someone if you have damaged his or her property in
I some way. This is called Restitution. Which situation below is the best example of
|

|

' Restitution?
' A. Jake borrows Leslie's camera and the lens shatters when it falls on the ground [
| ' because he fails to zipper the case. When Jake returns the camera, he tells Leslie that
' ' he will pay for the repair.
' B. Rebecca borrows her neighbor's car, and when she returns it, the gas tank is
. practically empty. She apologizes profusely and tells her neighbor she will be more |
| considerate the next time.
| C. Aaron asks Tom to check in on his apartment while he is out of town. When Tom
. arrives, he discovers that a pipe has burst and there is a considerable amount of
water damage. He calls a plumber to repair the pipe.
D. Lisa suspects that the pothole in her company's parking lot caused her flat tire. She
tells her boss that she thinks the company should pay for the repair.
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Which one will replace the question mark ? D.6

B 91 fawea weT fog & = w e

s[4]7]/8\

w
~J
na
>

ONwp
A WA -

Which word does NOT belong with the others? C. bud

B T 362 3T TTe2l & T 781 @rar?

A. tulip
B. rose
C. bud
D. daisy

Pointing to Gopi, Nalni says, "I am the daughter of the only son of his grandfather." | C
How Nalni is related to Gopi? Sister
A. Niece

B. Daughter

C. Sister

D. Cannot be determined

TIGT BT 3R SR B §Y AT Pl €, & TP 12T &b gebedld 9 &l 42T €1 " T BT Mt
T T Gy B2

A. TSt

B. &<

C.9&

D. Freffa 78t foeam ST Tebar

In some language, “EXAM” is coded as “FYBN™. In the same language, how will we | A .
code “RESULT™? SFTV
MU

fadt wTST #, “EXAM” %Y “FYBN” & 9 § I3 fbar ST7ar1 81 367 9197 &, 89 “RESULT”
Bl BT BIS B

A. SFTVMU

B. REPTUY

C. ERICCART
D. KYLEBROW
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Arrange the words given below in a meaningful sequence.

A &g T vreel Bt Hrefes T H eafeRd W
1. Elephant 2. Cat 3. Mosquito 4. Tiger 5. Whale

o 2 b b

’ ]

2

1
34’

4

2

W W N

»

ijx)w
-—a'J}.J;.—-

>

N — W

) > ]

10

E

fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally,
had:

A. 588 apples

B. 600 apples

C. 672 apples

D. 700 apples

TP Hed fIshdT & UTH T8 TG &1 IT 40% 9 o= QT 37 e ff 39 urg 420 89 99
el U §, 39 U9 fobar a9 2

A. 588 89

B. 600 ¥

C. 67289

D. 700 ¢

T>|o0we

700
apples

Fill the blank in the end of the series.
LGl & 3§ ferd @I W

QAR, RAS, SAT, TAU,
A. UAV
B. UAT
C. TAS
D. TAT

Spot the error from the given options.

fEu Ty faeedt & Jfe &1 uar Ay

The purple car parked outside belongs to my neighbor, who is an elderly woman.
A. outside belongs to

B. my neighbor, who

C. The purple car parked

D. is an elderly woman

13

Choose the correct option for the following sentence:
ffefea aea & fag g8t fawer IH:

In all probability, it rain tonight.
A. will

B. can

C. may

D. ought
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14

Select the sentence with the appropriate use of adverb of manner.

T & TR oT & Sfd IUFT aTet aTery &7 939 Bl |

A. He done his work regularly.

B. He has just done his work.

C. He does his work carefully.

D. He has done his work on my table.

15

Spot the error from the given options.

fo Tq fqeeat & e &1 uar @y

This is / too grave sin / to be / pardoned.
A. pardoned

B. too grave sin

C. Thisis

D. tobe

16

The following sentence has a word underlined. Read the sentence carefully and find
which part of speech the underlined word belongs to.

fafafad o & ue vree Waifesd 21 ame @1 w0 8 ue 3R gar @ 1 Wdifesd oreg
g T T £

The runner won the race despite the injury.
A. Adjective

B. Noun

C. Verb

D. Adverb

17

Choose the most appropriate answer from the options for the given phrase:
feu T areRrier & o foesent & & ge9 Suge W

“on tenterhooks™

A. in suspense and anxiety
B. angry and irritated

C. surprised and shocked
D. happy and excited

18

Which of the words is closest in meaning to the word provided?
fom T Sre2} # & w1 17 91eg 37ef Y gfE F g T vreg & wad e #2

“lambaste”™

A. marinade
B. commotion
C. censure

D. tickle

19

Which of the words is antonym of the word provided?
frfafed 4 @ = a1 e veH 5 T oree 7 faeit 22

“sartorial”
A. cheerful
B. sincere
C. inelegant
D. homespun

|
|
|
|
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| 20

| In the given sentence, identify the segment which contains the grammatical error.

| f g AT §, 39 wE Y ugeH & o et get g 2

|

’ He sent me twenty invites in the last six months, until I agreed to come.
A. He sent me

1 B. twenty invites in the

' C. last six months

' D. until I agreed to come

21

i Identify the correct option for the underlined sentence:
! @iferd arerd & fofg get faeped ueem:
|

' No sooner had he entered the room when the lights went out and everybody began
to scream.

A. when the lights went out

B. than the lights went out

C. and the lights went out

D. then the lights went out

The debate over the controversial law became increasingly as opposing
sides presented emotional arguments that often-disregarded logical reasoning.

( A. contentious

' B. harmonious
C. inconspicuous
D. indignant

23

Which of the following command remove the paragraph formatting?

FfafEd & § I 97 BHiS TS BIH{ET 6 82T 22

Ctrl+ L
Copy
Open
Ctrl+Q

hich of the following is the first computer to use Stored Program Concept?
UNIVAC
ENIAC
EDSAC
None of above

7= & @ B 971 ©IE WU 0w &7 IYFNT B ATell TEdT YR 82
A. UNIVAC

Cawr=g DO

B. ENIAC
C. EDSAC
D. ZTH Y BIE TE
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25

T

Which of the following statement is correct regarding a template prepared by a word
processing package?

Any document can be saved as a template. ‘
Default template is used when you create a new file.
Many templates contain text that gives one advice on how to use the template.
Default settings are reflected by the normal document template and cannot be
overwritten.

T2 TR 93T BRT 44R fhe 7T 2meie & gy § Fefafad & @ o 91 suq 98 22
A. TR Vi SEaTaST BT THie & ©U § GeAT ST gbdT 21

B. 578 39 18 7% HISe §ATd € dl [SHhiee THeie BT U fhar ST 21

C. TS TZH | SR BT & 51 THIE BT IUINT B o iieh &b a1 § FATE ST 2 |

D. fE®iee AfE I STAw e gRT URefard gidl € 3R 3% ifraf@d T8t fear < |
THaT &

oW

26

Which of the following shortcut key shows the properties of a file?
fefefEd 5 8 # 5t wiéese gt ot wrect & ot & i@t 82

A. Alt+ Ctrl
B. Alt+P

C. Alt+F3

D. Alt+ Enter

27

What is the full form of HLDA?
HLDA T quf &9 T 22

A. High-Level Data Application

B. High-Level Definition Application
C. Hold Link Data Application

D. HOLD Acknowledge

28

Which of the following is a structured programming technique that graphically |
represents the detailed steps required to solve a program?

A. Object-oriented programming
B. Pseudocode ;
C. Flowchart |
D. Top-down design

fefefaa & @ o € ve @fua i qedie € s fed fum @ 8 a3 & o
AT TIE =ROTl 1 UTftees BT § o1y 82

A. FTestarR-3fiae wmeT

B. TEBIE

C. FeArare

D. ZU-g13A feame
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' Which of the following sites of Indus Valley Civilization, a clay model of plow has been
found?

A. Rakhigarhi

B. Banawali

C. Kalibangam

D. Mitahal

& =t T & FmfafEa & 9 e e W g &1 ! &1 wied 7T 82
A. TETE

B. @G

C. PBIET™

D. frares

30

The foundation of the Finance commission is laid down under which of the given
articles?

A. Article 202

B. Article 280

C. Article 263

D. Article 231

femr s & g Ffafea & 3 feg ores & fdid W@ T8 22
‘A.aﬂa}azoz
B. 31872 280
C. 3TT8< 263
D. 3=8% 23 1

31

The number of Lok Sabha seats were raised from 525 to 545 by which of the given
amendment?

FefafEd 8 & feg oo g1 wieaT S B TEAT 525 T 9eTa 545 T &l T2

A. 56t
B. 48t
C. 31+
D. 35t

C

" Which of the following islands in the Andaman and Nicobar Islands group are volcanic
in

' nature?

A. Havelock Island and Neil Island

B. Long Island and Middle Andaman

C. Long Island and Neil Island

D. Barren Island and Narcondam Island

sizH 3R FreeR 9 aqe § ffafEs § § $F 3 €9 SarergEt Teid & 82 A, gadie
27 3R i g9

| B. 1T 3128 3R 7eg 3ieqH

| C. ST aTgete 3R A BT

;D.Wﬁqﬁ??@fgﬁ'ﬁﬁ
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33

The Investor Education and Protection Fund Authority (IEPFA) operates under the aegis | B

of which Ministry?

A. Ministry of Finance

B. Ministry of Corporate Affairs

C. Ministry of Consumer Affairs

D. Ministry of Commerce and Industry

Ao e wd weayor ffer wnferestor (IEPFA) fobd Hamera & dearaem & &1 &t 22

A. fag wsre
B. BIYIE HTHA] BT BT
C. SUMTT HIH("H.EE[ ‘iﬂlﬂq

D. a1y T IET 51T

34

What is the theme of *World NGO Day 2024°?

A. Building a Sustainable Future: The Role of NGOs in Achieving the SDGs
B. Building a More Equitable World

C. Empowering Communities for Sustainable Development

D. Celebrating Community Heroes

ferr NGO &ae 2024° &1 fawar @ 22

A. TH Had vias: §ad faerd dedi & umed B H R TBH ST Bl iHabT
B. U 3ffed g9 fasg &1 fwfor

C. Fad faer & feid qyarat ol qerer s

D. HHEIG TGl HT ST AT

FIFA World Cup 2026 will be hosted by which one of the following countries?
A. Canada, Mexico, and the United States

B. Italy and France

C. Spain and Russia

D. Africa, Europe and South America

BIET fag B9 2026 H AT FAfEET & G S 91 29 ST
A. TSN, AfFTHT 3R Tgad T3 BT

B. Sl AR BE

C. TWAIRTT

D. 3THIHT, JUT 3R faror smfte

36

Turtle Wildlife Sanctuary, is located in which district of Uttar Pradesh?
A. Gorakhpur

B. Prayagraj

C. Varanasi

D. Meerut

HYIT TS IR, IR UST & b et F fyer 22
A. TRER
B. YRR
C. gRIoTEt
D. HB3
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37

SIPCOT” is an industrial park initiative of which state?
A. Karnataka

B. Maharashtra

C. Tamil Nadu

D. Kerala

SIPCOT® o5 1= &Y 3frefies UTes Uget 22
A. &Eh

B. HERTE

C. dfferATg

D. &

38

International Civil Aviation Day is observed on which date?
A. 7 November

B. 7 December

C. 7 January

D. 7 February

IR AT Iga oy e fafer o wman ST 22
A. 77dR
B. 7f&E®
C. 7 Had
D. 7®ad

39

Which of the following is the correct food chain?
A. Grass — Chameleon — Insect — Bird

B. Grass — Fox — Rabbit — Bird

C. Phytoplankton — Zooplankton — Fish

D. Fallen leaves — Bacteria — Insect larvae

frfafed & § o9 o 98 arE gua e?
A. =Tg-fRfe-hre-gaf

B. HH-wIHgl-Gaier-gef

C. TSRS A TBEA- A

D. firt g uft-deifear-re wmat

40

“B.C. Roy” award is given in the field of:
A. Music

B. Medicine

C. Journalism

D. Environment

T Y. T qrepr o e o o S &
A. G

B. AT

C. IFBTRAT

D. TafaoT
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Out of 100 members of a group 20% likes tea, 50% of the rest likes coffee and the rest | D :
likes milk. A glass of milk gives 10 units of energy, a cup of coffee gives 8 units of | 12 .2 |
energy and a cup of tea is good enough for 15 units of energy. Find the average of the | units ‘
units of energy that the members of the group gained. \
A. 9.9 units |
B. 10 units |
C. 11.1 units | ‘
D. 12.2 units \

TE TR & 100 T H T 20% B IR UL 8, AIHT & 50% BT 1! GHS € 3R 1HT B g4 |
UHS 2| U T g 10 g 311 3T 2, TF FU BIH! 8 JfAe o1l a7 & 3R TF &9 A
15 g2 Fetf & fofq vafed 8 | HHE & TE g0 T Ioo1l Bl SHISAT BT 316 311 |

A.9.9 72

B. 10gfAC

C.11.13gf42

D. 122 g2

Sushil purchased a machine at Rs 10000, then got it repaired at Rs 5000, then gave its A .
transportation charges Rs 1000. Then he sold it with 50% of the profit. At what price he | 24000
actually sold it.

et 7 T #eF 10000 T98 H @<, o 3/ 5000 08 & Fyd g, fm Saer uftasT |
Yok 1000 F9 fe@m| o5t 364 I8 50% @M R o9 7| 387 arda ¥ 39 6 da W
I4?

A. 24000

B. 25500

C. 26000
D. 28000

20 men can do a piece of work in 50 days. Find the amount of work done by 70 men in | B .
5 days. 35%

20 3ATEHT T BT B 50 T § R g €1 5 o7 & 70 31reHt gy fevam man & 71 Sifsre) ’
A. 25%

B.35%
C. 45%
D. 55%

A sum of Rs. 4000 amounts to Rs. 4600 in 5 years at a certain rate of simple interest. | C. Rs.
What would be the amount, if the rate of interest is increased by 3 %. 5200

A. Rs. 4900
B. Rs. 5000
C. Rs. 5200
D. Rs. 5600

4000 ¥ BT T R FTROT Ao Bl Tep FAFG & W 5 ol F 4600 T &1 A1 81 A |
T & H 3% BT e BT SATC ¥ 71T T Befe |
A. 4900%.
B. 5000%.
C. 5200%.
D. 5600%.
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| 45 ' A man gains 20% by selling an article for a certain price. If he sells it at double the ‘ A
’ price, the percentage of profit will be. 140%

1
| ’Q?ﬁwﬁwa@ﬁwﬁ@aq@mmzo%waﬁam%luﬁazsﬁé’ﬁim
| R AT &, A T BT iR 2

| (A 140%
| B. 150%

C. 160%
D. 170%

46 Which one of the following is not a prime number? D. 91

fFrafafaa & @ i H Te 30T T 78 82
| A.31
B. 61
C. 71
D. 91

47 | Given that V12 = 3.464 and V120 = 10.95, find the value of V1.2 + V1200 + v0.012. B. 35.
844

fear T & fF V12 = 3.464 3 V120 = 10.95, a@F V1.2 + V1200 + V0.012 & 99 FTd

BT

A.32.164
B. 35.844
C.36.164
D.37.304

48 Travelling at 1 / 6th of his usual speed a man is late by 30 minutes. What is the usual | D. 6
time taken by him to cover the same distance? minut
A. 5 minutes es

B. 5.25 minutes
C. 5.50 minutes
D. 6 minutes

FTT AT A & 1/6 9T T A g8 UF Al 30 T 28 § ugFar 81 q9H i 7
FH H 3T T T 9HT @ 82

A.5Te

B. 5.25 fAme

C.5.50 fime

D. 6 e

| 49 P is thrice as old as Q. The difference between the ages of P and Q is a multiple of 9. | D. 12
‘ Find the minimum possible age of P, if it is known that Q’s age is an odd prime number. | year
A. 9 years
B. 10 years
C. 11 years
D. 12 years

P I 3 Q | I TAT &1 P 3R Q P 31Mg & il T 37X 9 BT 0T &1 P Bl JAqH T
AT 3719 BT, TfE e 714 2 6 Q P13 T faww 3pea e 2 |
A.9TH |
B. 10 I
C.11ad |
| 'D. 127 |

\
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50

Two numbers are in the ratio 15:16. If the HCF is 8, find the numbers.
A. 120 and 112
B. 128 and 136
C. 120 and 128
D. 112 and 104

A HEATY 15:16 % 3ga7d § &1 I HCF 8 }, Y TATg J1d BIfeig |
A. 1203 112
B. 128 3R 136
C. 120 3R 128
D. 112 3R 104
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